	
	ALGEBRA 2  




                                  Name:____________________________

CONIC SECTIONS STT



                      Date: ________________ Period:______

Show all your work and reasoning.  Use a pencil and highlight your answers.

	
	1.  Solve for x.  Be sure to give the exact and approximate answers.
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	2.  Solve and graph each inequality.
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	3.  Write the standard form for each conic section.

	
	a)  

Equation:
	b)  

Equation:
	c) 

Equation:

	
	4.  Write each in standard form.  State whether the equation is a parabola, hyperbola, circle, or ellipse.
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Type: _____________________
	b)  
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Type: _____________________

	
	5.  Graph each conic section.  Identify and graph the information below for each equation.
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	Center: _____________________

Foci: _______________________

(Label endpoints of the Major and Minor axes on the graph. 
	Center: _____________________

Vertices: ___________________

Foci: ______________________

Asymptotes: ________________
	Center: _____________________

Radius: ____________________
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	7.  Frank deposits $1000 in an account earning 6% annual interest, compounded monthly.  In how many years will the account have $8000?


	8.  Simplify completely.
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